A et

e

=

2x—y+5=07 1

P4

013
=

.

ul



S 787 PPt I IE BIloA B YA
Zala, °

Sy

1| W







® y=5x+10

=-5x-10

@y

O y=2x+10

-5x + 10

@y

@ y=>5x-10









-1 O\f

AUU |||||
N\
g~
__dﬂ
& <
+ + T
= S
i ©
a,ue
I
T o o
| = T
S~ Q ®
CUe
RO
™ K| -
,_LIUJW — S
o _I_ | |
~
ibor o) © ©



ARy =
=-2x+b9 1

_1 y=a = W= Errel
oY x+19 19 = A
et A5kt a + b9
o . o] 7+ O A

® -4 @
-2

Ao
=
i
<=

A



ARl y = 2ax—b O] LY LS y o WFo g 30HF FPo
dapet

y=—4dx+ 19 2o} X}, ojuf, b - a ] FL27

O -4 @ -2 ® 0 @ 2 ® 4



AlA T, A4 (5, 2)E

Zofy =

b4y = dx -5 9] 713

[
=

10.

<t

|

=

Il

-

o ©
| |
= =

™M oD [0

Il Il
N >~
[\ 0
| |
= =



11.

) 7‘1]1/\]'—5"15 @ 7\1]2 }\]'Tv]:_‘—‘?i
@ A3 AHEH @ AR

® A2 AR A4ArER



12. 5 A4 x =2 y =3 TaF yEF 02 BN 2RO Holg

T}

@ 2 @ 3 ® 4 @ 5 ® 6



.

I} 4

Q2 2



o
&

FE} (-2, 2)L W, b—a

by =8
ax—-y=2, 4x+ by




o)
e

+29% y=-x+69

3
= -x

2

Ay

Gl

z
A

=
n

15.

™M oS [0

™ 000 o
I |
= =

©@ ©



16.

pApS|

ro Hn

2
A D sHe YAGS] 427

®y=2x+3 @ y=-2x+3

3 3
@ y=3x+3 ® y=-Sx+3

)

A 2x—y+3=0,2x+y-3=02 L A4, x W] 2

1
@ y=—§x+3



re
ot

7}7}

g 0

S8
I

i

L
Q
[

Al
&l

|

x+ay=2
3x+6y=">b

ZF A = Fsheqet,

o 7t 25

4

ok
5

O
=

o, a, b O] FE



|
5 24

zhe?

® -3

@ -2

ax+y =25, 2x—y = b2 o]

@1

@ 3

®7



19.

#EHE 919 £ 4 A(L, 5), B4, 1) ]
o] =7t AB 9 R =% ke A5 a

> L
=F

1



A x -9y =4 9191 H (k+6, k—6) o]l thato] k gL 3}

@ 7 @ 11 @ 13 ® 15



A8 Jefng she

2 ¢l
b °] & ab O] G2

Kol

A4 3x 4 6y = 5 °F HYsFAL x FHo|
g /Ko]-—/'\—a’

y:ax"’ba—gmﬂ’

Wl

®

Ao 4

N

©® -3 @ - ©_% )



o

ol

©
=]

22. o

o|J
BN
o|J
0

el
B

=

A

®1,7

@ -1, 6

-2, =8

@ 1,9

® 2,8



23. oL 1L ax—-by+6 =02 1 zo|t}.

ol f g — b9 FE2?

3 3
@5 @—5
@ 2 ® 0

® -2

yl

By



xX=a, X
AHZtE
@ 2

£

—a, y=3,2y+6=029 IH=Z=Z AR
,Fa o] T2 (Ha>0)



25.

AAPGAG A 2x—ay-5 =01 bx—y-2=10
of J 7t v 2™y g ), 71=717t
aoli ydHol p3l Ao xHEHL2?

-2 @ -1 ®

1
@3 5
@5 ® 2

yl




26.

A(2.7)
y=az+3
3
1
B(4,1)
0 T
@ -2 ® o0



y=ax Aol 4y

27. The TelA AxaS
Pl 0] ghel W9

AABC &} wapsh of,

A
8
IA
[\
®
IA
N
A

IA

IS

IA

w
W =W —
NN w

Wl N~
IA
IS}
IN



@1




= — 1 .
ATy =ax+ b9 A Ze=y = §X—294 Tl e} sk,

y=—gr 29 TAZGE xZ A WL L Fy = av + 59

SEEEEELY

@ (-3,2) @ (-1,-1) ® (2,-2)



x+3y =11
30. AAHxtay =-17eAolA TEES o o g Fateler
2x—-3y =-5

R
=¥



31. thg TeIe] A4 y— ax+ b & TR
e, Al A 4o Sl A2gel 4
717 947] 918 a O] ghe B atele

N\

By






33.

A4 y =mx + 3 °] A

Mg
o

d
o
i)

N

N

o

N

YA

B

L _

08 TD

1

|

-

1
y=maz+3 :A .
/O 2 =



